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o FUAT T I @ & 5 F97-97 F Jfad U8 16 T 797 32 &/
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o F97-Y H qTfeH &7 @l SR 39 T4 FE T/ 79T A B 5H
TH-GITH & Jeq-9% T ford |
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F9T FH T [T@T & FA T &, F97 & BHIF Fa9T
forg|
Before beginning to answer a question, its Serial
Number must be written.
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o FR-Ytaer & dia 7 @l gA/94 7 8ig
Don’t leave blank page/ pages in your answer-book.
o TW-YRaH & Sfaked #F o dic TE [ I
STaIFATAR &1 [ ofi for@r Gav 7 e
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o 1t o1 A To FOT-TF 9T 37aeT fard |

Candidates must write their Roll Number on the
question paper.

o FYAT F9l T T a7 & §d 78 GAread & o [ g97- quf
7 & & gier & uvrT 3@ &= § FiF ot qrEr @ww
Tt fFar s
Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

HHT 39T :
General Inst ruction :
() a4t g7 sifare &1
All questions are compulsory.
(i) 3 F97-97 7 FT 32 §97 & 71 [& a1 @vEl o, 7,
FARGH I TTE

This question paper consists of 32 questions

in all which are divided into four Sections :
A B Cand D :
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GUESH 5T @E A1 T 16 7% FT 16 F97 8,
To% 797 1 8i% &7 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

GUET: 5T GE T 17 § 21 T FT 5 F97 8,
T@% J97 2 3% &7 &/

Section B : There are 5 questions from 17
to 21, each of 2 marks.

@UE T : 59 @ § 22 § 27 T FT 6 F97 8,
TR J97 4 3% &7 &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

@UE T : 39 @€ § 28 & 32 T FT 5 I &,
T% G976 5% #T &

Section D : There are 5 questions from 28
to 32, each of 6 marks.

(iii) @UE T H FO gl 7 <IRS fAdeq foF T 8 IwH
& g 797 & AT 8l

Section D contains some questions where
internal choice have been provided. You

have to choose one of them.
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Gug - I
SECTION - A
1. cot 34° —tan 56° H AF & : 1
(A) -1 B) O
€ 1 (D) 2
The value of cot 34° — tan 56° is :
(A) -1 B) O
C) 1 (D) 2
2. 5-5cos?A HAFE : 1
A) -5 (B) sin’A
(C) 5sin?A (D) 5
The value of 5—-5cos? A is :
A) -5 (B) sin?A
(C) 5sin®A (D) 5
3. Zr%secezgsia‘rcotewrrﬁr%: 1
3 4
A = B) —
(A) 2 (B) 3
4 5
c) — D) =
(©) = (D) 2
If secO= g , then the value of cot 0 is :
3 4
A) — B =
(A) 2 (B) 3
4 5
c) — D) =
(©) = (D) 1
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4. sin®55°+sin?35° BTN : 1
(A) -1 B) O
(C) 2 (D) 1

sin? 55° + sin? 35° is equal to :

A) -1 B) O
€) 2 (D) 1

5. I G NF e s ad 10T &l g | E, 4
Wl X & g 6 W 8, T g B ST g 1
(&) 7§ B) 53
(C) 8 & (D) & & FE TE

If the length of the tangent from a point which is
at a distance of 10 cm from the centre of the
circle is 6 cm. Then radius of the circle is :

(A) 7cm (B) S5 cm
(C) 8 cm (D) None of these

6. I O %= a0 I W AB TIT AC & WYl W@ 39 F&R

g % |BoCc =115° &, @1 |[BAC ®IUFE: 1
(A) 65° (B) 75°
(C) 55° (D) 90°

If AB and AC are two tangents to a circle with
centre O, so that |[BOC =115°, then |BAC is:

(A) 65° (B) 75°
(C) 55° (D) 90°
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7. 7 QT 390 997 120° BoI@UE & S0 a7t I & FHoIEvs

P AABA & 1
(A) 80 &HI2 (B) g QT2
(C) 84 HI2 (D) % T2

Area of the sector of a circle with radius 7 cm
and angle of sector is 120°, is :

(A) 80 cm? (B) % cm?
(C) 84 cm? (D) %cm2

8. 3 gl &I Brourd wuer: 10 {1 AT 7 AW €1 39 g9 A
o, Rrger oRfY, &1 1 gl &t aRfEE] & I & s’

K 1
(A) 100 ¥Hr (B) 70 &>
(C) 17 94t (D) 3§

The radii of two circles are 10 cm and 7 cm
respectively. The radius of the circle, which has
circumference equal to the sum of the
circumferences of the two circles, is :

(A) 100 cm? (B) 70 cm?
(C) 17 cm (D) 3 cm

9. I TH T & BT &A% 440 §H2 &, T Mol &l
Bk 1
(A) +/35 FHt (B) <28 &l
(C) 70 q# (D) & ¥ &5 T
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If the surface area of a sphere is 440 cm®, the
radius of the sphere is :

(A) V35 cm (B) V28 cm
(@) J70 cm (D) None of these

10. U T=gUg d0 & AHR & T & AT 324 1 JHIS
& 1 3B HATE 4 TAT 8| 30 AR A B g . 1
(A) 7 GH (B) 8&H
(C) 6 9H (D) 9 &4t
The volume of a vessel in the form of a right
circular cylinder is 324 © cm® and its height is
4 cm. The radius of its base is :
(A) 7cm (B) 8cm
(C) 6cm (D) 9cm

11. 9@ 14, 51, 35, 56, 60, 74, 62 T4 43 F AT E 1 1

(A) 65 (B) 55 (C) 50 (D) 62
The mean of the numbers 14, 51, 35, 56, 60, 74,
62 and 48 is :
(A) 65 (B) 55 (C) 50 (D) 62
12. SRENAT TR & T 99 BT : 1
45-55|55-65|65-75|75-85|85-95|95-105
18 10 14 21 7 4

(A) 75-85 (B) 45-55 (C) 55-65 (D) 95-105
The mode class of the frequency table will be :

45-55|55-65|65-75]75-85[85-95|95-105
18 10 14 21 7 4

(A) 75-85 (B) 45-55 (C) 55-65 (D) 95-105
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13. ofi®el 28, 15, 6, 24, 13,30 AT 25 HIATHAR & : 1

(A) 25 (B) 28
(C) 24 (D) T4 ¥ %5 T8I

The median of the data 28, 15, 6, 24, 13, 30 and
251i1s:

(A) 25 (B) 28

(C) 24 (D) None of these

14, 3/ YBR § Hel T2 197 & 52 Ti & Tef ¥ F Udh g
fererT ST 2| a8 aa e B, d e 1
1 1

(A) =2 (B) 3
12 1
(& 13 (D) 12

One card is drawn from a well shuffled deck of
52 cards. The probability of getting a card of a

jack is :
a o ®
© = o)
15. =1 & T H9-di {8 e o midear 78 & gadr & 71
A) -0.5 (B % (C) 18% (D) 0.2

Which of the following cannot be probability of

any event ?

(A) -0.5 (B)% (C) 18% (D) 0.2
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16.

17.

18.

19.

20
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ﬁaﬁwﬂaﬁgﬁaﬁ: 1
%{ﬁmagrmﬁsrr{ﬁ%awaﬁaﬁmﬁwaﬁww
................. |

Fill in the blank :

The sum of the probabilities of all the
elementary events of an experiment is ........... .

gug -
SECTION - B

fG@TRU f& cos 23° cos 67° — sin 23° sin 67° =0 2
Show that cos 23° cos 67° — sin 23° sin 67° =0

3 &t o a1 9 % B @ o g 5 A A g W B,
99 favg & wef-1@ &l g & Sy | 2
Find the length of the tangent from a point
which is at a distance of 5 cm from the centre of
the circle of radius 3 cm.

4.2 Q1 B3AT AT U 91g F Mo Bl OeerEr S g iR
6 THT B34 a1 U ol o ATHR F gRafaie o s &l
EEREIRCZEIEEI T 2
A metallic sphere of radius 4.2 cm is melted and
recast into the shape of a cylinder of radius
6 cm. Find the height of the cylinder.

=1 groft &1 Are s ST 2
-3 | 10-25( 25-40 |40-55| 55-70 |70-85|85-100
IERAT | 2 3 7 6 6 6
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21.

22.

23.
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Find the mean of the following data :

Class-Interval | 10-25 | 25-40 |40-55|55-70|70-85|85-100

Frequency 2 3 7 6 6 6

T& 90 7 5 &l 7, 3 @t TS auT 8 Wk e &l 49 &
U& g ArgesAr e St &1 Siedr s g i
[epTelt T8 9% (i) TR (ii) B e 8| 2
A bag contains 5 green balls, 3 red balls and
8 white balls. A ball is drawn at random from
the bag. Find the probability that the ball drawn
is (i) white (ii) not green.

gug -
SECTION-C

adaier fiag sy 4

1/M =secA+tanA
1-sinA

Prove the identity :

,/M =secA+tanA
1-sinA

& GHA gal A 10 G U1 8 A Bl &% g9 &
TG ST H T AT I ST 8IS I H Wef HAl 81l 4

Two concentric circles are of radii 10 cm and
8 cm. Find the length of the chord of the larger
circle which touches the smaller circle.
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24.

25.

26.
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Th B ABC & W1 &Y, fS@dr o 6 @,
7 9 q91 8 T &l R us o= By & & Sl

WW%&HAEC@W&W@W%%%I
4

Construct a triangle ABC whose sides are 6 cm,
7 cm and 8 cm. Construct another triangle

whose sides are %th of the corresponding sides

of A ABC.

14 GHT 307 a1 U& I &l BIE ST dv R Teh FHAIT
AT & F e o ve 1 e S dHig | 4
A chord of a circle of radius 14 cm subtends a
right angle at the centre. Find the area of the
corresponding major sector.

TlTe o7 IS & TR & &9 H Uh g e g ® 1
ﬁ%ﬂTWﬂT,ﬂgWWWW(Crayons)@ﬁ@f
T ATedT 91| 9 g U% 9F & FER & 8, e W
U& T AR 21 A @ g0 Sas 5 T 8 SR
S A 3.5 Al &l I &R T foam I &t &

RIS <n=%%ﬁm) 4

Rasheed got a playing top as his birthday
present, which surprisingly had no colour on it.
He wanted to colour it with his crayons. The top
is shaped like a cone surmounted by a
hemisphere. The entire top is 5 cm in height and
the diameter of the top is 3.5 cm. Find the area

he has to colour it. (Take T = 2—72)
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28.
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144 9 U1 & UF @9 § 20 d1q O & § 3R 9
&% 2| T 98 09 e aredt &, S oft &, Ty T
U 98 81 @l aredl | 3HMER 39 O § ¥ angesdn
T U e 39§ a1 8| 3He T miEedr § @ ()
98 a1 U @IS (i) 98 AT U T8 @{edy ? 4
A lot consists of 144 ball pens of which 20 are
defective and others are good. Nuri will buy a
pen if it is good, but will not buy if it is defective.
The shopkeeper draws one pen at random and
gives it to her. What is the probability that (i) she
will buy (ii) she will not buy it ?

gug - ¥
SECTION - D

T GHAA AN T T8I IR &l orar 39 Rafq § 45 @
e il &1 STl & Safdh gF H I (altitude) 60°
§ TR 30° B AT 8| HIMR & $Hars &1 S| 6
The shadow of a tower standing on level ground
is found to be 45 m longer when sun's altitude is
reduced from 60° to 30°. Find the height of the
tower.

AT
OR

50 W d U faei o e & 3@ W UH @ & IR
SR A % STETHA HI0 FALT: 30° SR 45° @ I &
T &l HdTg 1T S|

From the top of a cliff 50 m high, the angles of
depression of the top and bottom of a tower are
observed to be 30° and 45° respectively. Find the
height of the tower.
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30.
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4 GHT Bear & wh g9 mﬁﬁﬁm’r‘(@m@ﬁmsﬁ
W60°%mwﬁwﬁ€rl

Draw a pair of tangents to a circle of radius 4 cm
which are inclined to each other at an angle of
60°.

oq1q & a1 UF Gl ATl 9% & U O & AR 3 g,
ST ST 4Tg & 99 U @iEd dodR YR X TR
2l 39 Il & Ml AR R & A 45 FHT SR
25 Y ¥ TUT I B FA SHETR Has 40 FHT SR
JATER AR & SHAE 6 Tl gl 39 qel & a9 §
T T Bl AT Bl & S IO, Felfeh 5 el B
qfear a1 & FI 36H qrfad Tel o @ 2 6

An open metal bucket is in the shape of a
frustum of a cone mounted on a hollow
cylinderical base made of same mettalic sheet.
The diameters of the two circular ends of the
bucket are 45 cm and 25 cm, the total vertical
height of the bucket is 40 cm and that of
cylinderical base is 6 cm. Find the area of the
metallic sheet used to make the bucket, where
we don’t take into account the handle of the
bucket.

AT
OR

@ﬁ'ﬁ@?ﬁﬂ@méumﬁswmuwémﬂww
ST 2| 59 o B S 2 § § IR SR H

gl zg Iteivll‘-l & A S Bl It
WWWWW%WW@ ar S ofR Raam
& AT BT AR ST By (n = 3.14 W)

2803/(Set : C) P.T.O.



C)
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A solid toy is in the form of a hemisphere
surmounted by a right circular cone. The height

(14)

of the cone is 2 cm and the diameter of the base
is 4 cm. Determine the volume of the toy. If a

right circular cylinder circumscribes the toy,

find the differences of the volume of the cylinder

and the toy.

(Use m = 3.14)

31. HT § OACB % O 3R Bem 3.5 T Al & 9 &

2 1 B, @ (i) IJAT OACB

Igafar 21 af& op

6

(ii) BT ST & &6 F1q HIT |

In figure OACB is a quadrant of a circle with

centre O and radius 3.5 cm. If OD

2 cm, find

the area of the (i) quadrant OACB (ii) shaded

region.
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YT
OR

S & @y U go@ve AYB & &% 1A BT,
fe g & Brear 15 G 8 |[AOB = 60° &l

Find the area of the segment AYB as shown in
figure, if the radius of the circle is 15 cm and

|AOB =60°.

32. = arolt &1 A1e@ 146.7 8| AR FA SATERAT 40 F,
Al x 3R y & 9 1 BT 6

T -ST=TeTeT
118-127
127-136
136-145
145-154
154-163
163-172
172-181

N e GO K oo§
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The median of the following data is 146.7. Find
the value of x and y if the total frequency is 40.

Class-Interval | Frequency
118-127 3
127-136 x
136-145 9
145-154 12
154-163
163-172
172-181 2
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